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SUBSTITUTION NO CALCULATOR : 251
MULTIPLE VARIABLES Ref: G212.
Al Ifp=3andg=4 A2 Ifp=1landg=2 A3 Ifp=4andg=3 A4 Ifp=9andg=4
Find the value of Find the value of Find the value of Find the value of
2p+q 3p-q 5pq ptq -3
Bl Ifp=5,¢g=12andr=4 B2 Ifp=7,g=3andr=10 B3 Ifp=10,g=9andr=4 B4 Ifp=6,g=10and r=2
Find the value of Find the value of Find the value of Find the value of
ptq+r 2p+3qg+4r 3pqr 2pg+r
Cl Ifp=3andg=S5 C2 Ifp=4andg=3 C3 Ifp=3andg=1 C4 Ifp=1landg=9
Find the value of Find the value of Find the value of Find the value of
4p’q 2(pq)’ P’ =34 r
q
D1 Ifp=4,g=3andr=28 D2 Ifp=8,g=3andr=2 D3 Ifp=8,g=2andr=6 D4 Ifp=12,g=5andr=2
Find the value of Find the value of Find the value of Find the value of
p(g+r) (P—q)g—r) (P+q)—(r+q) (p-r)-q°
El Ifp=7,g=8andr=3 E2 Ifp=10,g=5andr=8 E3 Ifp=5,9=9andr=2 E4 Ifp=4,g=2andr=10
Find the value of Find the value of Find the value of Find the value of
r qr p—r p+q’
p+q p—6 pq 2r
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Ref: ('i212.2 S 1

Al Ifp=3andg=4
Find the value of

A2 Ifp=1landg=2
Find the value of

A3 Ifp=4andg=3
Find the value of

A4 Ifp=9andg=4
Find the value of

2p+q 3p-q 5pq ptq -3
2x3+4=10 3x11-2 =58 5xUx3=60 9+ 4 -3=22
Bl Ifp=5,g=12andr=4 B2 Ifp=7,gq=3andr=10 B3 Ifp=10,g=9andr=4 B4 Ifp=6,g=10and r=2

Find the value of
ptq+r

F+12+U=21

Find the value of
2p+3q+4r
2x7+3x3+4x10 =63

Find the value of
3pqr
3Ix10x9xH=1080

Find the value of
2pg+r

2x6x10+2=122

Cl Ifp=3andg=5
Find the value of

4p’q
Ux3?x5=180

C2 Ifp=4andg=3
Find the value of

2(pq)’

X (4x3) =2x12* =288

C3 Ifp=3andg=1
Find the value of

P’ =34
3 -3x1=2H4

C4 Ifp=1landg=9
Find the value of

B
[
e
N

D1 Ifp=4,g=3andr=28
Find the value of
plg+r)
Hx(3+8)=4Y4

D2 Ifp=8,g=3andr=2
Find the value of
(p—q)g—r)

(8-3)x(3-2)=5

D3 Ifp=8,g=2andr=6
Find the value of
(p+q)—(r+q)

(8+2)-(6+2)=2

D4 Ifp=12,g=5andr=2
Find the value of
(p-r’-¢
(12-2%-5*=75

El Ifp=7,g=8andr=3
Find the value of
r 3 3 BN

p+q 7+8 15 &

E2 Ifp=10,g=5andr=38
Find the value of
qr 5x8 M0

=—=10
p-6 10-6 i

E3 Ifp=5,9=9andr=2
Find the value of
p—r 5-2_3 &8
Pq 5x9 U5 15

E4 Ifp=4,g=2andr=10
Find the value of
p-{-q2 H+2 = 8 g

2 2x10 20 5
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